Response to Editor

The corrections are in yellow color.

Commentaire (AD1) page 2 : (EC, viscosity 10 cP *  ( 1 cP = 1 mPa s).
Commentaire (AD2) page 4: s: second/step.
Commentaire (AD3) page 4: Please remove instrumental data from Figs!
We must realized another SEM analysis without instrumental data from the Figure, actually in Algeria , the university is in holidays , so, we will do a new SEM analysis in some days. If you have a solution or you can help us, please send an email for this commentaire.
Commentaire (AD4) page 9 : x-axis names must be: 2 / o  (  in italic): Fig.3 was corrected.
Commentaire (AD5) page 11 : Eq. must be in line with text! t1/2 not t1/2 : Qt = kHt1/2
[bookmark: _Hlk27311315]Commentaire (AD6) page 11 : Mt  not Mt Mt - please check: M ? tn, not tn   :  Mt /M∞ = kKP .tn
[bookmark: _Hlk27311492]Commentaire (AD7) page 13: Resolution of the fig. must be improved , r2, not r2 ; t1/2 / min1/2 not t1/2, min1/2 
Corrections were done, please see the corrected Fig. 5 .
Commentaire (AD8)-(AD20) in References pages 14-15: All the references were corrected.
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